50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 17CS42
Time: 3 hrs.
Note: Answer any FIVE full questions; i
O edule-1 Lol
1 a. List out the differences between Procedure Onented ,Language and Object Oriented
Language. Vo N\ &7 .. % (06 Marks)
b.
«m ;,» 06 Marks)
€. What is function cwerloadlng? Write a C++ program to define three overloaded functions
area( ) to find area%@ﬁclrcle triangle and rectaﬁgle (08 Marks)
2 a Explam the various features of OOC., (06 Marks)
b. What 1ﬂ«a ‘constructor? Mention 1ts gy:pqg; Explain copy consﬁructor with suitable code.
¥ (08 Marks)
c. What is an inline function? Wnte .4 C++ function toﬁggn&' the factorial of a given number
using inline function. i W X% = (06 Marks)
Module-2 = *
3 a. Listand explain the J ava  Buzzwords. 3} (08 Marks)
b. Why Java Language is Platform hdependef?i@ianguage? Justi (’WX Uur answer. (06 Marks)
c. Write a Java program to find the. avgrage and sum% f “following array elements
{4,8, 12, 16, ZQ} using foreach in Java . 4 ¢ (06 Marks)
s% OR
4 a. (08 Marks)
b.

1
4
7
6 R

Ns

O/p should:be (08 Marks)
724 4,
Explain switch case with an‘ex: ; (04 Marks)
LLLLL Module-3
What is an exception? Explaln exception handling in Java. (10 Marks)
What is package in"Java? How package is created and imported, explain with an example
program (mcludmg Execution steps). (10 Marks)
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a) 7
orR (P
What is an interface? Explain how an interface g%? Eﬁ%f%plemented with suitable code.
L9 (06 Marks)
What is Inheritance? Differentiate meth%d r@%%%loading and methqd%wgverloading with
suitable code. Sy, h - (06 Marks)
Explain any four Built-in exception class@i; ?ﬁ?ifh an example program:y # (08 Marks)
%% % A &
(“Module-4 -

; - .  fmy
What are threads? Explain two Wa%%@‘? creation of threads v%%% suitable code. (10 Marks)
What is synchronization %%I}a&a Explain synchronization’ can be implemented with

producer-consumer example %r fram . & (10 Marks)
le g,
@%ﬁi wf‘f OR g %% b
What is meant by dead bek? How to avoid deadlock?-Give example. (10 Marks)
What is Event h%ﬁ%igng in Java? Write a V.{@Véﬁ program to demonstrate Mouse Events
handling. %ﬁ ity (10 Marks)
,g'% & 0 e )
A . Modules
What 1sdn,a plet? Explain the life cycle of an applet? (10 Marks)
Explg%gassing parameters in Ag;ig%ﬁif%vith suitable codep;ﬁ;%g}w (10 Marks)
) W -2 "%*3
g ”q%k; P
& OR gﬁ%é‘%% P %B«
Explain the following with g@%@ﬁtable code: N4 v %fﬁf@
() JLabel ey .V v
(i) JTextField A O, S ® &
e v ‘a1 A
(iii) JList R {&w&%@" ‘ —
i ™, Gy & N
(iv) JTable ﬁ%%& a®” G (20 Marks)
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